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Question 1

Question Type: MultipleChoice

Refer to the code below:
const car ={

price:100,
getPrice:function(){

return this.price;

}

%

const customCar = Object.create(car);

customCar.price = 70;

delete customCar.price;const result = customCar.getPrice();

What is the value of result after the code executes?



Options:

A-100

B- undefined
C- null

D-70

Answer:

Question 2

Question Type: MultipleChoice

developer uses the code below to format a date.



1l const date = new ate(L0s

snat dataDisplayOptions =

wr L — a3 =
3 year numerlc
4 month: 'long
5 day numaric
JB

const formattedDate = date.tolocaleDateSt g

After executing, what is the value of formattedDate?

Options:

A- May 10, 2020

B- June 10, 2020

C- October 05, 2020
D- November 05, 2020

Answer:

B

Question 3




Question Type: MultipleChoice

A developer has a web server running with Node.js. The command to start the web server is node server.js. The web server started
having

latency issues. Instead of a one second turnaround for web requests, the developer now sees a five second turnaround.

Which command can the web developer run to see what the module is doing during the latency period?

Options:

A- NODE_DEBUG-=true node server.js
B- DEBUG=http, https node server.js
C- NODE_DEBUG=http,https node server.js

D- DEBUG=true node server.js

Answer:

Question 4




Question Type: MultipleChoice

A test has a dependency on database. query. During the test, the dependency is replaced with an object called database with the
method,

Calculator query, that returns an array. The developer does not need to verify how many times the method has been called.
Which two test approaches describe the requirement?

Choose 2 answers

Options:

A- White box
B- Stubbing
C- Black box

D- Substitution

Answer:

A D



Question 5

Question Type: MultipleChoice

Which statement parses successfully?

Options:

A- JSON. parse ("foo");
B- JSON.parse ("foo");
C- JSON.parse (‘foo’);
D- JSON.parse (‘foo');

Answer:

A

Question 6

Question Type: MultipleChoice




A developer has a formatName function that takes two arguments, firstName and lastName and returns a string. They want to schedule
the

function to run once after five seconds.

What is the correct syntax to schedule this function?

Options:

A- setTimeout (formatName(), 5000, ‘John’, '‘BDoe");
B- setTimeout (formatName('John’, "Doe"), 5000);
C- setTimout(() => { formatName('John’, 'Doe") }, 5000);

D- setTimeout (‘formatName', 5000, 'John’, 'Doe");

Answer:

Question 7

Question Type: MultipleChoice




A developer wants to use a try...catch statement to catch any error that countSheep () may throw and pass it to a handleError () function.
What is the correct implementation of the try...catch?

A)

C)



catch (=
handleError (&)
1 i
- |
Lry
countSheep () ;
} handleError (e){

Options:

A- Option
B- Option
C- Option
D- Option

Answer:




Question 8

Question Type: MultipleChoice

Which two console logs output NaN?

Choose 2 answers | |

Options:

A- console.log(10 / Number('5) ) ;
B- console.log(parselnt ' (‘two")) ;
C- console.log(10 / 0);

D- console.loeg(10 / five");

Answer:

A B

Question 9

Question Type: MultipleChoice




A developer wants to use a module named universalContainersLib and then call functions from it.

How should a developer import every function from the module and then call the functions foo and bar?

Options:

A- import * from '/path/universalContainersLib.js";
universalContainersLib. foo ()7
universalContainersLib.bar ();

B- import {foo,bar} from ‘/path/universalCcontainersLib.js’;
foo():
bar()?

C- import all from '/path/universalContainersLib.js’;
universalContainersLib.foo();
universalContainersLib.bar ();

D- import * as lib from '/path/universalContainersLib.js’;
lib.foo();
lib. bar ();

Answer:

D



Question 10

Question Type: MultipleChoice

A developer wants to define a function log to be used a few times on a single-file JavaScript script.
01 // Line 1 replacement

02 console.log(""LOG:, loglnput);

03}

Which two options can correctly replace line 01 and declare the function for use?

Choose 2 answers

Options:

A- function leg(loginput) {
B- const log(logininput) {
C- const log = (loglnput) =>{

D- function log = (loglnput) {



Answer:

A C

Question 11

Question Type: MultipleChoice

Refer to the expression below:
Letx=(1"+2)==(6*2);

How should this expression be modified to ensure that evaluates to false?

Options:

A-Letx=(1'+"'2)==(6*2);
B-Letx=(1'+2)==(6*2);
C-Letx=(1+2)==('6"/2);
D-Letx=(1+2)==(6/2);

Answer:
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